Question 32 2010 HSC Chemistry Band 4/5
Sample 2

Start here.

It's merawry  cetl.
] w .The satt and wafer (Brine) into ueq,afjs,*, cen,
thén {he oxidation in +twe Anode 2(I° =y t)e. , the (hlorine ?qs
N0 J0 thogh_gad

been  produced - The cathods onry  aliow NaT Vdissolve in amalga¥
NafHg 1 2H0 = 2NaOH t H> t2Hg , the NaOff is produced in the water
chamber , |t produce hi'jh pun‘fﬂ of NaOff and veléase H; qa5, the Hj -
be reused . EEsme 1 's  safery tnat Clo and Ha are serated . But +nis
(B con7ain muwj whieh  js  foxic  to dqmoﬂe tue  enviro mewt and

@awse  (ong  cancel - And the Nabt  musr crystalise -

L moiten sodium chlorids oniy ontain  twe 10ns - Naf. c
Okidation reactitn :  B& 2017 — f. + 20
reduction  reaction : Na® + ¢ —= Narcs overan : Na'+ 0" = Nacl
'+ aqueous sodium  chioride  contadn three w: Na™  ¢i” . Ha0

The oridafion reaction is alweys 20" — ([5 t 28 as  Na' required

!

Tt —vedrnaer arge  energYy , therefore  th  reaction not

been occwr, fnen twe reduetion s 2H:0t 260 —= Ha + Off°

]
overayl  reaction :  Nat) t H:0 — H: + + (>

Theefore  the  product of = €I€bﬁﬂ.’7$fj aqueous  sodium 5 Ha . Clz . and OH
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© 250, + 02 L 50,

when at fme A . N(503)=0-4ml,  N(50,) = 0.5 meol

=

0-4 mol

Cesps) = Tor = 0-04M
Ces0:) = Jt—f?—” = 9-05M
Cc0y) = "LTL?E = 04N
ke = _Ls0s7° o004 _ 16

L 50.1:]z L0:] B 0-95"% 9.04

() when at time B. the poes of 50; and $O. stay constamt
A0 ;
250, + 0> ‘= 2503 , when tha moles of 503 and 50: (5 twe

same a5 qime A . The new equilipriars  posirion is Lformed.
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Start here.

@ G g soaponification
reactomt A NaCH
: Coconut_oif
W/ Hydoigsis tnen  newtratise. Fisty add twe water fow
add  Na0H to form the maf , after man‘ug foaf;, '3‘arﬁnj ouf "
fo prdue S Soap - Dun‘fg the  Siponification , Ao net fomeh

and Stiaiut use  far S0ap -

€ - Solvcuj process {5 fo prodwe  ANail03 whidh T main ase (S 455, to
yemowe  tihe (q” ~Mj il tn hard water and malke dhemicCad

ammenia
I?mrinj e So(vmj process . (C0a A:‘s f»rodw.e. butr Tt can be reused

Aja-‘n
Egmremmme  (a(03 + Hi0 — (a0 t (02 TH0
02+ NHe + OH™ £ Nad —>  NaH; + NH4CI
NaH(03 == Nax(03 + 85 (0> +H20

(a0 ¥ H20 —= Cal0f).

—fre Tt —Crt Ot tr———e > N HlaC + (q(0H)> —> CaCl,t 2NH3 T H30
The overan Yeaction s Cat03 + Nac| —= Catlyt+ Na2(D;3
' The Catlla {5 major waste , Althowgh [+ can be transter o water and
Yeused M solvay  Process, but tue aweawf of (a2 (S Still tes (erge
and recwtl ho wnmmwjg 1w e twe Calfx , gnd (00| the Ca(lx berore
Tmns-rff +o e —water
" A solvay  process  produce @A19e  amewr ef peat . tuarerore yus

thermo!  pol; wition

Nojw js a1so twe  poltution
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